

Request for

151	M.	(-)-	1,000	
•	PR	14	20	3

	•	•
SSS 2, 2'E	.	
	L	

E SE SESTE	EPONDENSESSOR HENDONSESSOR
JOHN ABBOTT	
304-558-2544	

RFQ COPY TYPE NAME/ADDRESS HERE

ANDY POLING FABRIC AND FOAM SALES, INC. 2937 WHITE HALL BLVD. WHITE HALL WV 26554-8905

WY PRISON INDUSTRIES VARIOUS LOCALES AS INDICATED BY ORDER

304-558-2036

aan iin oo			US OF SAL		SHIP			FGE		FREKSHT TERMS
DATE PR	/2007		<u>uista Terres</u>							
OPENING DATE		06/27/	2007			BID	OPE	NING TIME	0 1	:30PM
LINE	QUI	UNIETY	UCP	CAT.	FIETA NO.	MEETE		LINIT PRICE		TRICONA

			DE	OUFS	T FOR QUO	TATION				
				_						
•	THE P	URCHASI	NE DI	ISIO	N IS SOL	CITING	BII	S FOR THE		
	MEST '	VIRGINI	A CORE	RECTI	ONAL INDU	STRIES	TO.	PROVIDE		
	UPHOL	STERY F	ABRIC	FOR	SEATING F	PRODUCTS	•			
					TOATTONS	/ PTN E	no:	4		
	ATTAC	HMEN (S:	1. S	IDCHY	ICATIONS Sing Affi	TIVANT		•		
			2. 5	JKEIIM	31110 K//					
	1				•					
							1			
0001		-	LS		265-44					
		1		ros	CEATING F	פדיוווותמפ	 			
•	DEHOF	STERY F	ARKIG	FUR	SEATING F	-KODUC.IS	1			
					Į					
	EXHIB	IT 3								
	-22	.								
	LIFE	OF CONT	RACT:	TH	IS CONTRA	ACT BECO	ME:	S EFFECTIVE	DN	
				AN	D EXTENDS	S FOR A	PE	RIOD OF ONE	[(1)	
	YEAR	OR UNTI	LSUCI	H "RE	ASUNABLE New Conti	IIME"!	HEI	REAFTER AS	12	
		SARY IU Nal con			F *PFASO	MARIF TI	ME.	PERIOD SH	IALL	
	NUL E	XCEED T	WELVE	(12)	MONTHS.	DURING	TI	HIS TREASON	IABLE	
	TIME	THE VE	NDOR I	T YAN	ERMINATE	THIS CO	NTI	RACT FOR AN	ΙY	
	REASO	N UPON	GIVIN	S THE	DIRECTOR	R OF PUR	CH	ASING 30 DA	YS	
- •	WRITT	EN NOTI	CE.							
			L		7010 35-	OTT0::: *	Ļ.,	n elegument	•	
	UNLES	S SPECI	FIC P	DOCUM XUVIS	TUNS AKE	DITLARY DEC	יתם ומטו	D ELSEWHERE NDITIONS AN	: ID	
	TW 1H	NG GET 19 CUNI	HERET	NOCUM	FIRM FOR	THE II	FE	OF THE		
	CONTR		15.45	- AILE		- ,,,, to 40 40	T -			
	l l				i					
	RENEW	AL: THI	S COM	TRACT	MAY BE	SENEMED	PP	ON THE MUTU	AL	
]	•						
				SEE BE	VERSE SIDE FOR	EFERS AND CO	NO.	ONS		
SIGNATURE		***************************************			Parant II-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-	TELETIONE			DATE	
IIILE		Jer			<u> </u>	1	1	ADDRESS CH	ANGES	TO BE NOTED ABOVE
				14.16	TARRET ALM	ADDDCCC	ik) C	PACE ABOVE L		

Request for

PR14203

NEW TOTAL STATE OF THE STATE OF

RFQ COPY TYPE NAME/ADDRESS HERE

JOHN ABBOTT 304-558-2544

WV PRISON INDUSTRIES VARIOUS LOCALES AS INDICATED BY ORDER

304-558-2036

EATE PIN			SOC BALE	SHP (SA		F (C)			PERSON TERMS
06/11/								<u> </u>	
BID OPENING DATE		06/27/2	007		BID	DPENING 1	TIME)1:30F	PM
1945		8000000000000000000000000000000000000	169 CAT	OTEM MANAGE	EA .	LAMIT	PICE		ANDONE
LIME									
		1				un urunn			
	WRITT	EN CONSE	NT OF THE	SPENDING	UNIT A	ND VENDUI	(3A)		
	SUBMI	TTED TO	THE DIREC	TOR OF PUR	CHASIM	CH RENEWA	IAHO I	.	
	DAYS	PRIOR TO	THE EXPL	RATION DAT THE TERMS	AND CO	UNITIONS	OF THE	-	
	BE IN	ACCURUA	NCE MILIE	SHALL BE L	INITED	TO TWO	(2) ONE	1	
	DRIGI	NAL CUR! EAR PERI	DDS AND	SHALL DE C				1	
		f	1		1				•
	CANCE	I LATTON:	THE DIRE	CTOR OF PU	RCHASI	NG RESER	VES THE		
	DICHT	TO CANC	CI THIS C	INTRACT IN	MEDIATI	ETA ALAW	MKTIIC	PI	
	MOTTO	C TO THE	VENIOOR I	F THE COMM	ODTITE	אטיעאא פ	PEKATC	E 34	
	CHEEL	TER ADE	NE AN INF	ERIOR DUAL	ITY DR	י נטא טע	CONFUKE		
	TO TH	E SPECIF	ICATIONS	OF THE BID	ANB C	ONTRAÇI I	HEKETM.	1	
		l_		- DIRECTAR	OF BU	DCHACTNG	MAV		
	OPEN	MARKET C	LAUSE: IH	E DIRECTOR NIT TO PUR	CHACE	NU THE O	PEN		
	AUTHO	RIZE A S	SEMPTIME O	LING OF A	SEDII IS	TTION DR	COST	ļ	
	MARKE	ATE THE	Me eperte	IED ON THI	S CONT	RACT FOR			
	ESILE	TATE DE	TVERY IN	EMERGENCIE	S DUE	TO UNFOR	ESEEN	ŀ	
	CAHCE	S CINCIN	DING BUT	NOT LIMITE	D TO D	ELAYS IN	TRANS-	}	
	PORTA	TION OR	AN UNANTI	CIPATED IN	CREASE	IN THE	AOLUME	Ì	
	OF WO								
ļ			l						
	QUANT	ITIES: 4	UANTITIES	LISTED IN	THE R	EQUISITI	DN ARE	İ	
	APPRO	XIMATION	IS ONLY, E	ASED ON ES	TIMATE	S SUPPLI	TOBEED FR RA		
	THE S	TATE SPE	NDING UNI	T. IT IS L COVER TH	UNDEKS	TITIES A	AGREEU Vilalita		
	THAT	THE CUND	KACI SHAL	URING THE	TERM O	E THE CO	NTRACT.		
	UKUEK	ED FOR D	UD IESS 1	HAN THE QU	ANTITE	ES SHOWN	•		
	NODER	INC PROC	FOURE: SP	ENDING UNI	T(S) S	HALL ISS	UE A		
	WRITT	EN STATE	CONTRACT	ORDER (FO	IRM NUM	BER-WV~3	9) TO		•
	THE V	ENDOR FO	R COMMODI	TIES COVER	ED BY	THIS CON	TRACT.		
	THE O	RIGINAL	COPYLOF T	HE WV-39 S	HALL B	E MAILED	TO THE		
	VENDO	R AS AUT	THORIZATIO	IN FOR SHIF	MENT,	A SECOND	COPY		
ļ	MAILE	D TO THE	PURCHAS	NE DIVISIO	IN, AND	A THIRD	CUPY		
	RETAI	HED BY	HE SPEND	NG UNIT.					
			1	1			1		
	_1		SEEPE	VERSESDEROATE		MOTITONS			
SIGNATURE					ELEPHONE		DA	TE	
TITLE		FER	N	L	 	ADD	RESS CHAN	ES TO BI	NOTED ABOVE



Request for

PR14203

BY ORDER

JOHN ABBOTT

304-558-2544 WY PRISON INDUSTRIES VARIOUS LOCALES AS INDICATED

304-558-2036

RFQ COPY TYPE NAME/ADDRESS HERE

				SMP		FOE	FRECHIERUS
DATEPRIN			MS DE SALE	•			
06/11/		22.222	2007		PID C	PENING TIME 0	1:30PM
BID OPENING DATE:		06/27/	2007		***********		AMSUNT
LINE	QUA	RHEY	yor C	TEMPS .	MEER	ENTPRICE	AMOUNT
							1
•	BANKRL	PTCY:	IN THE	EVENT THE V	ENDOR/CO	NTRACTOR FILES	
	END BA	MKOHPT	CY PROT	ECTION. THIS	CONTRAC	T IS AUTOMATI-	
	CALLY	NULL A	ND VOID	, AND IS TER	MINATED	WITHOUT FURTHER	! †
	ORDER.		{				
		i					
	THE TE	RMS AN	D COMPI.	TIONS CONTAI	NED IN T	HIS CONTRACT	
	SHALL	SUPERS	EDE ANY	AND ALL SUE	SEQUENT	TERMS AND	. .
	CONDIT	TIONS W	HICH MA	Y APPEAR UN	ANY ATTA	CHED PRINTED	
	DOCUME	NTS SU	CH AS P	RICE LISTS,	UKUEK FU	KMS, SALES NCINNTNE ANV	
	AGREE	ENTS U	R MAIN!	UCH AS CD-RO	MENIS, I	NCLUDING ANY	
٠.	ELECTA	CONTC H	Eniou 2	DUM AS CD-KI	, ea .		<u> </u>
			VENTOR	PREFERENCE	CERTIFIC	ATE	1
			1				
	CERTIE	ICATIO	N AND A	PPLICATION*	IS HEREB	Y MADE FOR	
	PREFER	RENCE I	N ACCOR	DANCE WITH N	EST VIRG	INIA CODE,	
	5A-3-3	7 (DOE	S NOT A	PPLY TO CONS	STRUCTION	CONTRACTS).	1
			1 1				
	A. AF	PLICAT	ION IS	MADE FOR 2.5	X PREFER	ENCE FOR THE	
	REASON	CHECK	ED:				
						WENDOD AND	1
	()	BIDDER	IS AN	INDIVIDUAL F	ESTREBI	IA FOR FOUR	
	HAS KE	SIDE IN	CONTINO	LY PRECEDING	THE DATE	IM FOR FOOR F OF THIS	
	1	ICATIO	1)	LIFRECEDING		L 01 11120	
	CERTI	164110	1, 0,	1.			1
	()	BIDDER	IS A P	ARTNERSHIP.	ASSOCIAT	ION OR CORPORA-	
	TION R	RESIDEN	T VENDO	r aind has ma	INTAINED	ITS HEAD-	. 1
	DUARTE	RS OR	PRINCIP	AL PLACE OF	BUSINESS	CONTINUOUSLY 1	in
	WEST Y	/IRGINI	A FOR F	DUR (4) YEAR	S IMMED <mark>I</mark> .	ATELY PRECEDING	•
	THE DA	TE OF	THIS CE	RTIFICATION;	OR 80%	OF THE OWNERSHI	(P
				IS HELD BY A			_
	PARTNE	RSHIP,	ASSOCI	ATION OR COR	PORATION	RESIDENT VENDO	in the second se
	WHO HA	IS MAIN	CONTRO	LIS HEAUUUAN	TERS UN	PRINCIPAL PLACE IA FOR FOUR (4)	
				RECEDING THE			
	CARS	THUEDI		_			
			, s	E REVERSE SINE FOR			
SIGNATURE					TELEPHONE	DATE	·
TITUE		f				ADDRESS CHANGI	S TO BE NOTED ABOVE

Request for Quotation

PRI4203

JOHN ABBOTT

VARIOUS LOCALES AS INDICATED BY ORDER

304-558-2036

304-558-2544 RFQ COPY WV PRISON INDUSTRIES TYPE NAME/ADDRESS HERE

DATEPRIN	TED	TEA	(S)OPS(IE)	****	SP	18		F08	FREIGHTE	MS.
36/11/	2007						<u> </u>			
BID OPENING DATE:	,	06/27/	2007			BID	<u>OPENINE</u>	; TIME	01:30PM	
LINE	QUA	NITE	UCP	CAT.	STEMBO	WER	u	STRFSCE.	AMOUN	P
				******						**************************************
				- 1						
	CERTIF	TCATIO	N; DR	.						
		D. T. D. C. C.	70 4	2000	DRATION N	INNDESTR	EUT VEN	INOP	1	
	()	RIDDEK	TO W	ATE	OR SUBSI	TAPV W	MICH FM	IPI NYS	İ	
	WHILH	NAS AN	WALTE	INDE	ED STATE	RESTREM	TS AND	MHICH		
	H HINI	TUTATA	FD TTS	HEA	QUARTERS	OR PRIN	CIPAL P	LACE DF	-	
	RUCTUE	22 UTT	HIN WES	ST V	IRGINIA (ONTINUO	USLY FO	R THE	1	
	EUNS (4) YEA	RS TMME	DIA	TELY PREC	EDING T	HE DATE	OF THIS	:	
	E .	ICATIO		1						
				1			İ		j	
	B. AF	PLICAT	ION IS	HAD	E FOR 2.5	* PREFE	RENCE F	OR THE	1	
		CHECK				•	1			
		İ		1			1		[
·	(1)	BIDDER	IS A	RESI	DENT VEND	OR WHO	CERTIFI	ES THAT,	,	
	DURING	THE L	IFE OF	THE	CONTRACT	, ON AV	ERAGE A	T LEAST		
	75% OF	THE E	MPLOYE	ES W	DRKING ON	THE PR	DJECT B	EING BID)	
	ARE RE	SIDENT	S OF WE	ST	VIRGINIA	WHO HAV	E RESIL	ED IN		
1					FOR THE		RS IMME	DIATELY		
	F	ING SU	BHISSI	יט אנ	F THIS BI	D;				
	OR				FAIRENT 1	cupep C	MOLOVEN			
	()	RIDDEK	ISAI	TURK	ESIDENT V State Re	ENDOK E	MALCATTA	16 A		
	MINITED	TOUR U	NEMBOR HE HOUT	UTTE	STATE RE	SIDERIS	D CHECT	M TARV	<u> </u>	
					ADQUARTER					
					r VIRGINI					
	1	1	•		ESIDENTS					
					CONTRACT		-			
					R BIDDERS					
					ARE RESI					
					E STATE C					
					EDING SUB					
				- 1						
					THE SECRE					
					ER RECEIV				·	
					MEET THE					
	PREFER	ENCE,	THE SEC	RET	ARY MAY 0	RDER TH	E DIREC	TOR OF		
		J		EENEV	ELESDERON	erms and so	ADITIONS			
SIGNATURE						TELEPHONE		CA	TE	
TME		K-B	<u> </u>		*****		1			
111 min		pre-	, -					THESS CHAM	SEG TA DE MATER ADA	AVE !

RFQ COPY

TYPE NAME/ADDRESS HERE



State of West Virginia Request for Department of Administration Quotation Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for

 ×- 1/1	(HAL) (1000	****
PR	14	20	3

₩ .⁄.	G;=####
	5

decements of	SP/450000 State And	1,000,000,000,000	۰
JOHN	ABBOTT		
304-5	58-2544		

VARIOUS LOCALES AS INDICATED

304-558-2036

WY PRISON INDUSTRIES BY ORDER

,				****************	SHPA	-	100000000000000000000000000000000000000	FOR	FREE	HE TERMS
DATEPRIN		11-11	AS OF BALE							
06/11/ BID OPENING DATE:		86/27/	2007			RID	DPENIA	S TIME	01:30PM	
***************************************	100000000000000000000000000000000000000			e.	TEMAN			LIMITARICE		NOUNT
LINE		RHIY		HO						
-			1						1	
	PURCHA	ISING T	D: (A) RE	SCIND THE	CONTRA	CT OR	PURCHASE]	
	ORDER	ISSUED	; OR (B) A	SSESS A P	ENALTY	AGAINS	ST SUCH	_	
	BIDDER	MA MI	AMOUN	טא דו	T TO EXCE	とり 5% U ATD TO	THE CO	BID AMOUN	1	•
	AND TH	AT SUC	H PENA	EPO	MILL BE F	AID BA!	ANCE	NTRACTING	1	
	CONTRA	CT OR	DIIDCHA DUC I EN	SE U	RNFR.	WIR DUF				
٠.	CUNTRA	ic: on	. UICIII	-			1			
	BY SUE	RMISSID	N OF T	HIS	CERTIFICA	TE, BID	DER A	GREES TO	•	,
	DISCL	SE ANY	REASO	INABL	Y REQUEST	ED INFO	RHATIC	ON TO THE	- [•
	PURCH/	ASING D	IVISID	IN AN	D AUTHORI	ZES THE	DEPAR	RTMENT OF		
	TAX AN	ID REVE	NUE TO	DIS	CLOSE TO	THE DIR	ECTOR	OF		
	PURCH!	SING A	PPROPR	LATE	INFORMAT	ION AFK	TEATH	, PROVIDED	[
	BIDDER	R HAS P	EUDMAI Vin ih	TON	DUCE NUL MOTKED DA	CUNTAIN Singss	THE	AMOUNTS OF		
	TAYES	DATE NOUS	DO ANY	OTH	ER INFORM	ATION D	EEMED	BY THE TA	x l	
	COMMIS	SIDNER	TO BE	CON	FIDENTIAL	•				•
		i	1							
	UNDER	PENALT	Y OF L	AW F	DR FALSE	SWEARIN	G (WES	ST VIRGINI	A	
	CODE 6	51-5-3)	, BID	ER H	EREBY CER	TIFIES	THAT	THIS		
	CERTIF	ICATE	IS TRU	E AN	D ACCURAT	E IN AL	L RESI	PECTS; AND		
	THAT I	IF A CO	NTRACT	IS	ISSUED TO CERTIFICA	TE CHYM RIDNEK	CEC DI	EF ANYTHIN	6]	
	CUNTAI	LNED WI	LUNIDA IHIM I	KI2	BIDDER WI	IC CRAN	EV THE	: SKING INC		
	PURCHA	SING D	IVISIO	N IN	WRITING	IMMEDIA	TELY.	-		
	[_	l			
	1		1		VA	OQ IC	AND	FOAM S	Alis	
			18	IDDE	R:			- 	[
						1/	110	7	- 1	
			ļ.	ATE:		4/6	-5/0	./	_	
			٢	, n	_	\cap 'A		Λ		
	l]	1			Bulle	$ \mathcal{V} $	La d		
			s	IGNE	D:	vorung	}¥- <i>V</i> -	KKK 1		
			1	ĺ		00-1	, , ,-	سنتنسس		
		}	L			rices	INDE	N_L		
	<u> </u>	[ĮT	ITLE			F*		-	j
	I			SEE SE	THIST SOE TON'T		ENTRACE			
SIGNATURE						TELEPHONE		DAT	E	
MLE		(FB)	N					ADDRESS CHANG	ES TO BE NOTI	ED ABOYE



Request for

PRI4203

‱ ∜.[s]-∞	**
6	

STATE OF THE PROPERTY OF THE P JOHN ABBOTT 304-558-2544

WV PRISON INDUSTRIES VARIOUS LOCALES AS INDICATED BY ORDER

304-558-2036

RFQ COPY TYPE NAME/ADDRESS HERE

DATE PER	VIED.	10	ME OF SALE	SHW	ViA	FO3.	FRE-GHT TERMS
06/11							
BID OPENING DATE	i:	06/27/		5 (3 V 20 V 20 V 20 V 20 V 20 V 20 V 20 V 2	BID (PENING TIME 0	1:30PM
LINE	QU	UNTEN	UCP CAT	(1568)	UMBER	UNITPRICE	AMOUNT

		=	1 1		Į.		
Ì	* CHE	CK ANY	COMBINAT	ON OF PRE	FERENCE C	CONSIDERATION(S)	
<u> </u>	IN EI	THER "A	- OR -B-	, OR BOTH	"A" AND	B" WHICH YOU	
	ARE EI	NTITLED	TO RECE	IVE. YOU	MAY REQUE	ST UP TO THE	
	3		1	FOR BOTH	TA AND	aBa'	
	(REV.	12/00)					,
			N	TICE			
	A STE	VEN RIN	MUST RE	SUBMITTED	TO:		
	210	ico oto	1				
	I	EPARTM	ENT OF A	MINISTRAT	IDN		
	•	URCHAS	INE DIVIS	SION	-		
	1 -	BUILDIN	3	1			
				STREET, E			
	(CHARLES	TON, WY	25305-013	0		
	THE BI	D SHOU	LD CONTAI	N THIS IN	FORMATION	ON THE FACE OF	
				ON YAN OL			
				1.	j		
	SEALED	BID					
	BUYER:			IOUN	APPOTT	·	
	BUIEK:			JUAN	ABBOTT-		
[RFQ. N	0.:		PRI4	203		
		· · · -					·
	BID OF	ENING	DATE:	6/27	/2007		
	L						
	BID OP	ENING	TIME:	1:30	PM		
					ļ		
							5
	PLEASE	PROVI	DE A FAX	NUMBER IN	CASE IT	IS NECESSARY	
				ING YOUR I	1		1-7
						304) 366-61	l /
SIGNATURE ()	7 1	11 =		EVERSESDEFOR	TELEPHONE	THONS DATE	
mie (NN	My Vi	rlws	<u> </u>	. 	<u> </u>		
······		7				ADDRESS CHANGES	TO BE NOTED ABOVE



Request for

PRI4203

WAS A STANK OF THE PROPERTY OF JOHN ABBOTT 304-558-2544

RFQ COPY TYPE NAME/ADDRESS HERE

WV PRISON INDUSTRIES VARIOUS LOCALES AS INDICATED BY ORDER

304-558-2036

EATE PRIN 06/11/ BID OPENING DATE:	2007	TEF 06/27/	MS OF SA 2007			SHP VA	BID O	FOR PENING TIME		FRENDET TERMS
£MĢ	ANI		LIT	SAT HC		i) (N		BARBARA	Sc.	LITCH FIELD
•	CONTAC						1		·	
						. -				
	*****	THIS	IS T	HE EN	D OF R	lFQ	PRI42	03 ***** TO	TAL:	
		•								
					•				:	
				•						·
BIGNATURE				⊗BEE SNE	(FIGE SIDE	FOR TERMS		FISCANS	DATE	
me		ja.	FEN					ADDRESS CH	ANGES	TO BE NOTED ABOVE

WV Correctional industries PRI4203

ACORDIA EMPLOYER SERVICE

Mayer Fabrics or equal:

Estimated

Pattern Name	Annual Quantity (Yards)	Price Per Yard	Extended Price
All Seasons	100	\$20.39	\$2,039.00
Саре	20	\$19.84	1396.80
Cheisea	25	\$21.14	\$528.50
Clematis	. 15	\$19.84	\$ 297.60
Contrex	75	\$ 25.67	11,925,25
Cosmos	20		\$170,00
Courtyard	10		\$204.40
Crosstown	10	\$20.44	\$204.40
Decade Orion	10	\$21.75	\$217.50
Echo	75	\$17.00	\$1,275,00
Foundation 10	_ 25	\$16.94	\$423.50
Gem	10	137.14	\$371.40
Giovanni	10	\$35.00	\$350.00
Grove	10	\$18.00	\$ 180.00
In Motion	15	\$15.45	\$231.75
Interlochen	45	\$24.14	\$1,086.30
Legend	20	\$ 37.14	\$742.80
Mastertex	5		\$80.00
Monet	30	\$17.00	\$510.00
Monsoon	15	\$12.00	\$180.00
Nebula	10	\$27.45	\$274.50
Pageant	5	\$31.65	\$158,25
Pinstripe	5	\$ 30.75	\$153.75
Pisces	5	\$27.40	\$137.00
Taj	125	\$18.14	\$2,267.50
Tidewater	5	\$17.10	\$85.50
Tuscany	10	\$17.10	\$171.00
Wooltex	10	\$16.60	\$166.00
	Total Bid		\$14,827.70

304 556 1122

P.11

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owned is an amount greater than one thousand dollars in the aggregate

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agencies or political subdivision. Furthermore, the vendor must provide all necessary releases to obtain information to enable the Director or spending unit to verify that the vendor is licensed and in good standing with the above entities.

CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendors should visit www.state.wv.us/ admin/purchase/privacy for the Notice of Agency Confidentiality Policies.

Under penalty of law for false swearing (West Virginia Code, §61-5-3), it is hereby certified that the vendor acknowledges the information in this said affidavit and are in compliance with the requirements as stated.

Vendor's Name:	MABRIC	AND FOAM	SALES		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Authorized Signature: _	andy	Poliny	Date:	6-25-07	
Purchasing Affidavit (Revised	04/15/07)	\mathcal{O}	•		

Rev. 11/01

Include With Bid

STATE OF WEST VIRGINIA

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with West Virginia Code, §5A-3-37. (Does not apply to construction contracts).

West Virginia Code, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the West Virginia Code. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

Α.	Application is made for 2.5% preference for the reason checked:
	Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preceding the date of this certification;
	Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or
	Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification.
В.	Application is made for 2.5% preference for the reason checked:
_\	Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employ- ees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or
***************************************	Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid.
meet th	understands if the Secretary of Tax & Revenue determines that a Bidder receiving preference has failed to continue to be requirements for such preference, the Secretary may order the Director of Purchasing to: (a) rescind the contract or see order issued; or (b) assess a penalty against such Bidder in an amount not to exceed 5% of the bid amount and that enalty will be paid to the contracting agency or deducted from any unpaid balance on the contract or purchase order.
and aut	mission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division thorizes the Department of Tax & Revenue to disclose to the Director of Purchasing appropriate information verifying der has paid the required business taxes, provided that such information does not contain the amounts of taxes paid other information deemed by the Tax Commissioner to be confidential.
true an certific ately.	penalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certificate is ad accurate in all respects; and that if a contract is issued to Bidder and if anything contained within this rate changes during the term of the contract, Bidder will notify the Purchasing Division in writing immediate changes.
Bidder	: FABRIC AND FORM SALES, Dr.C. Signed: Quely Croling 10-25-07 Title: Pas.
Date: _	16-25-07 Title: <u>Pass</u> .

^{*}Check any combination of preference consideration(s) in either "A" or "B", or both "A" and "B" which you are entitled to receive. You may